-=NOTES=-

MINIMUM ULTIMATE TENSILE STRENGTH
OF 3/4° ROD IS 23,000 LBS.

FOR DETAILED INSTALLATION
INSTRUCTION PLEASE REFER TO A B.

GALV. ANCHOR ROD

WALL ANCHIIR K75 WALL ANCALIR ALLESSTIRY CLMFLVENTS
AL DESCRIPTILN DESCRIPTION
TTIUR EACH GALV. WASHERS, GALV. SQUARE NUTS & GALV
_ 20 * GALV. CROSSPLATE ANCHIR, 19 * GALV. WALLPLATE i
T150-0362 |/ yASHER &9 * X 3/4 * ROD W/ 2 NUTS COUPLINGS CALL FOR 3/4 * RID)
T150-0349(9* X 3/4 * GALV. ROD W/ 18 * OF THREAD BOTH ENDS

T150-0363 |20 * CLEAR-COATED CRISSPLATE ANCHIR, 19 * CLEAR-

CONTED WALLPLATE W/ VASHER & 9 ' X 3/4 * RID W/ 2 NUTS T150-0350| 4172 X 3/4 * GALV. RUD W/ 18 * OF THREAD BTH ENDS

20 * GALV. CROSSPLATE ANCHIR, 19 * GALV. VALLPLATE N Yy _
15000 D S R, e | | TR B R B

T A R, b o T150-0373|25 * CLEAR-COATED WALLPLATE W/ CLEAR-COATED VASHER

20 * GALV. CROSSPLATE ANCHIR, 19 * GALV. VALLPLATE - .
T150-0366 | N/ WASHER, 4-172 * X 3/4 * ROD W/ 1 NUT & 1 COUPLING T150-0374 |24 * GALY. CROSSPLATE ANCHR

k4-1/2 " X 3/4° ROD W/ 1 NUT T150-0375 |24 * CLEAR-COATED CROSSPLATE ANCHIR

20 CLEAR-COATED CROSSPLATE ANCHR, 19 * CLEAR-
T150-0367 | COATED VALLPLATE W/ WASHER, 4-1/2 ' X 3/4 * ROD W/ 1

NUT & 1 COUPLING & 4-1/2 ' X 3/4 * ROD W/ 1 NUT

—_— 374 *
3/4 * GALV. ANCHOR ROD GALV., COUPLING NUT
|Il.ﬂm D e e e ﬂ e

[ CROSSPLATE ANCHOR

FORMED STEEL WALLPLATE
(11" X 19" 10 GAUGE THICK) |\

CHANCE BULLETIN 31-9806-LATEST
REVISION

E==3|

SQUARE WASHER
(4' X 4" X 1/4" THICK>

GALV. SQUARE NUT

FARCE T e HIRBE [ POWER SYSTEMS
TR T e T ™  KIT, DURA-GRIP
TYPICAL INSTALLATION B WALL ANCHOR
DURA-GRIP™ ey powce sema. | C [SA150-0364| SEE CHART A
ST s R T i | DRN BY peviouas| oATE 11-12-98 [steT 171




